1.Match.

2 trimesters 1 semester | | 2 semesters

3 quarters

6 months 12 months

2.Complete.

e 2 lustrums = 10 years
e 6 lustrums = years
e 3 Justrums = years

e 2 decades = 20 years
e 4 decades = years
e 5 decades = years

e 3 centuries = 300 years
e 8 centuries = years
e 10 centuries = years




3.What century does each year correspond
to?

Year 1830 = 19 century
Year 1652 =
Year 1950 =
Year 2015 =
Year 1500 =

4.Classify the lines.
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5.Look at the picture and answer.

What are lines 1
and 2 like?
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What are lines 1

and 3 like?

What are lines 2
and 4 like?

What are lines 2
and 4 like?



